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Vocabulary- Matching (Questions 17-22) Place letter of the correct vocabulary word in the space before the number.

—17. Front A. A huge body of air that forms over a region characterizing it with a

. similar temperature, humidity and pressure at any given height.
18. Air mass
B. An area where the atmospheric pressure is greater than the rest of

_____19. Continental the atmosphere,

C. Anair mass formed over land.

The boundary separating two or more different types of air masses.

An area where the atmospheric pressure is lowest compared to the

surrounding area.

——~1.Low pressure system F. A boundary between two different air masses, neither of which is
strong enough to replace the other.

20. High pressure system

e

22. Stationary front

Fill-in-the-Blank - Write the term from the box below that best completes each statement. Each word is only
used once.

Word Bank
A. evaporation B. precipitation
C. humidity D. condensation
E. water cycle F. collection
23, is the phase in the water cycle when water

turns from liquid to a gas and enters the air. Itis
represented by the number 3 in the illustration.

24, is the phase in the water cycle when water
returns to Earth's surface in frozen or liquid form. It is represented by the number 4 in the illustration.

25, is moisture in the air, and is caused by which is shown in the diagram by number 3,

26. is the phase in the water cycle when water turns from a gas to a liquid and collects to dust
particles creating clouds. It isrepresented by the number 6 in the illustration.

27. The is driven by energy from the sun and is represented by the number 1 in the illustration.

28. Water that collects in rivers and stream is part of the water cycle represented by the number 6. It is called

Bonus: (2 points)
Write a short paragraph to compare and contrast different types of storms. Use the following terms: hurricane,
cyclone, tornado, and typhoon. Include characteristics such as dangers, location, and season.

Weather Test



